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7 &3 FH= B F N & B
FRXAMTAUB(EHZ) F38 AREX 8  K# 3 R
1 REELL 1 (12%) |

(a) stack overflow (b) max heap (c) perfect hash function

2. il 250N Java B LR BN R © (12%)
(a) RS a1 I fun(pBokinl g > Rl

int{] a={1,3,5,7,9};
fun(a, a.length-1) ; // initially, a.length is 5

public static void fun(int[] a, int x) {
if (x<0) return;
System.out.printf("%d ",a[x]) ;
fun(a,x-2) ;
}
(b) SEHCLA N B R R ek ged () - UK - #5885 a,b Y e K2 - (4%)
public static int gcd(int a, int b) {
if(b==0) _ @ ___;
return _ @

}

(c) 5L N oy Eski (BinarySearchTree )| 111 0% "Siafff"f‘%rﬁkié%l search() » 1Y) key

SRYH SR FY S ST > BB A RS L key P BTG » 4 e L3 - “‘JI“H%i nulle
class BinarySerachTree {
class Node {int key ; Node left, rigth ; } /7 left §5i0) 3 Yi%th &3
Node root ;
public static Node search(Node root, int key) {
if (root == null) return o
if (key==root.key)
return 2] ;
else if (key<root.key)
return _ © ;

return [4) ;
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(4%)
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3. ERAI(List): (12%)
(a) #5— Array List A n G2 o AEHEA—(SHT0E x> HEBUSE k HT % (1<k<n)
T THBELE)E? (4%)
(b) ELF dummy head node 1 linked list F5{i{EE5? FRHIEATS - (4%)
(c) LUK average()Ek8nl sRHL—HAS H 41 list vhoTIRIGIGE - HHEBTTReRAME - Gidd
HEHPI B R - (4%)
public static double average(LinkedList<Integer> list) {
double x =0 ;
for (int i = 0 ; i<list.size(); i++) x += list.get(1) ;

return x/list.size() ;

4. HEEB(Stack) and {7%1](Queue): (12%)

(a) A5 HEABEFE 1”7 Last In First Out” 2lchiil - élllﬂﬂu*ﬁﬂlﬂflnﬁubféﬁﬂm Queue FFH?
(2%)

(b) £5—HEAEs S 1.’1’}]]7‘]'42'\?}5%(a b,c,d,e) » Hift e fE[HTn(top) > X A5 Q H@Wﬁﬁ}(wx y.z) °
oz KR « JE1E S HEFT 0% pop » FIAE Q UPsEfT K dequeue - FxfgeEIEH S
i pop ;EB%EIU)E%UE LA Qe GpLIRs S Bl Q N BRI (4%)

(c) BH LU FEAREST =0 F URTE 2(prefix expression) Bl {%{E =\ (postfix expression) ° (6%)

F= a-(b+c/d-e)*f+g/h*]

5. rdEikBinary Search Tree): (12%)

(@) AL N DI -2 FY 0 O (BT A A P BN 77) - 5 HL B PR REDIR A

fi o (4%)
NYY, KITTY, GET, JAN, HEX, SAM, POT, SOP, MET, VIS

(b) 7&(a) » BTHHIL ORI T T (inorder traversal)Eilf% /7731 T (postorder traversal)ifi
S BT T EI I SR R TR A iV S - (4%

(c) AR -GS v B P THT R - AEAME—RIE IL O CRIRSRE? S
JUAL {]llxjj/f\‘{l'lllj o (4%)
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RIIRL 1N LEERBMNBL A A FRNRHE

AR EMEERLALAZER B E N SR ;
ARANTA U B(EME) F3H rRmst 8 A 3 H 3

6. HER(Sort): (12%)

(a) FRHFIHIRIIAANIAE 88, 17, 45, 98, 32 > {fiH] Bubble Sort #ETTHI/NEIAHER: - JLFR%K
IR A #i(swap)? TFEHHEFHEE » BHIRKGS - (4%)

(b) 7F MergeSort /7 » G — B CASBHFHIEET51(7, 19, 33, 35)8(12, 15, 23, 31) > 4t
TETTZDRATTRILE? TR THIRGD © (4%)

(c) fixasfsi Al QuickSort PR —3HIF51 - PRSI A HEN T RIS MR pivot) » 7]
RE RIS BNt - HILER R A S PP R S e 2 SRR
BHIANKG ) < (4%)

7. Hashing: (14%)

(a) MR BB iE A —1{i# A/ \(TableSize) £ 11 %) Hash table » {iifH h(key)=key mod
TableSize {f§{£% Hash function - i)l quadratic probing i S fifiEEf# (collision resolution)
Jitk » it} Hash table IR fRIOAZ » NG HHSRIEM ARG BHEE - (5%)

77, 23, 35, 20, 78, 54, 98

(b) [Fl(a) > {HESH double hashing FHETTHIfifEHER# » /A=NATF - HoA hi(key)f% primary hash

function: (5%)
hi(key) = hi(key)+i*h2(key), i:5f5 i Xhifitg
h1(key)=key mod TableSize, h2(key)=7-(key%7)

(c) ffiH] linear probing S FshilfifEHEfR /7R » 2557 primary clustering PRI > fFREE(AT
BH primary clustering - (4%)

8. HF[EIEHERL (time complexity)/HT:  (14%)
(a) FEATLL MU BRI TS > (5%)
for (int i=1; i<=n; i++)
for (int j =i; j<=n; j+=2)
cnt++
(b) FFIMATLL R B R > (5%)
for (int i=1; i<=n; i++)
for (int j=1; j<=i; J*=2)
cnt++ ;

(c) FEEEEIIRRTEHERE RS O(n*)EHQ(n?) » S} (4%)




